AU o E-A& Al e 2022 (A) | 20214 (B) (A-B)

19,711,540 15,419,359 4,292,181

18,305,191 14,048,502 4,256,689

2TTILS 16,012,621 12,611,988 3,400,633

38,380 38,603 A223

29,510 27,353 2,157

13,250 11,083 2,167

AREATF 3,850 2,218 1,632
R 3,850
Sogx 210-01 50,0009 X 3%= 150
2} 5 A 2 210-01 10,0009 X 20%-= 200
x}ekol 2t 2 210-07 |400,0009 x 8tj= 3,200
& 0] 3] 230-02 15,0009 X 20 = 300

YDA E A 53] 9,400 8,865 535
BRTA 0 R R oA e L R 1,990
ER R 210-01 |50,0004l x 3% = 150
PR 1P =] 210-07 400,000€ x 1t}= 400
2= 73| 210-01 50,0009 X 8% x 33| = 1,200
& 0] 3 230-02 15,0009 X 8% x 23| = 240
() w () A 5,135
Sog3x 210-01 50,0009 X 2% x 23| = 200
el 27 210-07 | 600,000¢ X 2t} x 23] = 2,400
A8 FEn) 210-15 20,0009 x 257 x 33| = 1,500
& 0] 3] 230-02 15,0009 X 23 x 33 = 1,035
AN AFTsIAS 2,275
SS9 210-01 |50,0009 X 2% x 23] = 200
x}ekol 2t = 210-07 |700,0009 x 23] = 1,400
A &) %] 210-15 |25,0009 %274 = 675

AL 15,520 15,520 0

BEFAI YL SEH 14,520 14,520 0
Ay A FA S 11,520
$ojgex 210-01 50,0009 X 14% x 33| = 2,100
2} 5 A 2 210-01 20,0009 X 30%-x 33| = 1,800




A S E=A= 2= < 2022d(A) | 202149 (B) (A-B)
3) A (YR 1,020
7h 71E 210-06 |160,0009 x 33]= 480
W) =3 210-06 |90,000 x 2/ 7} x 35] = 540
4) A== 210-07 |700,000¢ x 33]= 2,100
5) AP &En] 210-15 |50,00091 X 30 x 33]= 4,500
v A S E 3,000
1) w271 210-01 |500,000¢ x 67 = 3,000
2. AFFAR3 B3 Ag 1,000 1,000 0
7}, AR ZEQ w S 7] 210-01 |500,000¢ x 27 = 1,000
>89 740 750 A10
1 243745 RASR 740 750 A10
7t WA A A 740
1) $94x 210-01 |46,0009 X 2% = 92
2) A& A 2 210-01 |6,0009 X 30%= 180
3) A (YR 300
7} 7] 8 210—06 |100,000¢ X 17 x 23] = 200
W) %3} 210-06 |50,0009 x 114 x 23] = 100
4) 98 210—06 |14,000€9 X 31 X 2A] kX 23] = 168
F 7,870 7,250 620
AL AT 7 6,890 6,350 540
1. 2FFEA 840 930 A90
7F 0 E EA 840
1) $94ex 210-01 |50,0009 X 3%= 150
2) AAEE 600
7H 71 & 210-06 40,0009 x10%= 400
W) =3 210-06 20,0009 x 10 = 200
3) 93 230-02 |15,0009 %6 = 90
2. QAL AD) 94 3+9 1,480 1,280 200
7} AL 2 F] 1,480
D #98= 210-01 |30,0009] X 2% % 28] = 120
2) Al 210-06 |100,0009 x 27 x 53] = 1,000
3) 93 230-02 |15,0009 x 8™ x 33]= 360
W - ol EFT TS - WA ARJAL — WAJALHE]




L e GOEE D)
A < LA & A= 2022 (A) | 20219 B) | =H(A-B)
3. 295237} 1,090 990 100
7h. e g 7t 1,090
1) £ 210-01 |50,0009 X 2% x 23] = 200
2) AN F 210-06 [100,0009 x 47 x 23] = 800
3) & 9] 3 230-02 |15,0009 x 6 = 90
4. TAJMIPYFF31 3,480 3,150 330
7}, n A IALY FER 3,480
1) $ojg= 210-01 50,0009 x 2% x 33| = 300
2) AETS 2,880
b 7R 210-06 |40,0009 X 8% x 63] = 1,920
b F3t 210-06 20,0009 X 87 x 63| = 960
3) & 9] 3 230-02 |15,00091 X 10 x 23] = 300
AAA T 470 430 40
1. A3 EA QA A A 2 470 430 40
7F. Q1AL ¢ 8] 470
1) A=k 210-06 |100,0009 x 23 = 200
2) & 9] 3 230-02 |15,00091 X 91 x 23] = 270
a2 A T 510 470 40
1. B 8352 AR 510 470 40
b W TEA AN o10
e 210-01 50,0009 x 23] = 100
9) HAlz=c} 210-06 |100,000¢ X 23 = 200
3) &9 3 230-02 |15,0009 X 7% x 23] = 210
1,000 4,000 23,000
XA 4 1,000 4,000 23,000
1. 3353329 1,000 4,000 23,000
7} AREF B FEA 240-01 |1,000,0009 x 1745l = 1,000
1,290,529 475,368 815,161
N B R 860,133 113,729 746,404
R EXPAE] 202,529 101,580 100,949
1. 3525339 2,435 0 2,435
7). S5 RS EA 2,435




SURE:| =7
7138 MES45U9A
718 AEE RS A9 (she] : A Q)
] =0 1:]-_?4 x—ﬂ‘ﬂ -
H o) B & o s T A o X A= AZ 1] A 19 19 =7F(A—
ok Arel At Atel FA < 5= A5 HEU 20223 (A) | 20219 (B) | TH(A-B)
1) 98 210-01 |50,0009 X 9% x 23]= 900
2) AETS 960
7h 715 210-06 |40,000€ x4 x 43]= 640
W) %3 210-06 20,0009 x 47 x 43] = 320
3) Al A= 210-07 |350,0009 % 13]= 350
4) ¥ 2] 3 230-02 |15,0009 x 159 = 225
ToASHALIAT 4,210 4,210
b FE RS R LI dA 5 3,342
1) $98=% 210-01 |50,0004l X 9% = 450
2) =] 210-01 |20,000€ X207 X 33] = 1,200
3) AArEE (dyh) 750
b 75 210—06 |160,0009 X 17 x 33] = 480
) 23 210—-06 |90,000€ x 19 x 38 = 270
1) A= 210-06 | 14,0009 x 31 X 242k x 33 = 252
5) ZFAFAH] A H) 210-06 |70,00090 X174 x 33]= 210
6) 2n] 230—-02 |8,0009 X 20 x 33] = 480
U T ddEgaldds 868
1) &9 8= 210-01 |50,0009 X 2% x 23] = 200
2) At (Y 500
7h 7] 210-06 |160,0009l x 17 x 23] = 320
W) x3 210-06 90,0009 x 17 x 23] = 180
3) Y7 210-06 |14,0009 x 30} X 247k x 23] = 168
Ba5dusA g 3,568 3,568
7h Hahsd s 3,568
1) $94= 210-01 |50,0009 X 10%= 500
2) AT (LD 500
7hH 71 210-06 |160,000¢) x 23] = 320
W) =3} 210—-06 90,0004l x 28] = 180
3) L8 210-06 |14,00091 x 3v x 43] = 168
4) =) = 210—-07 |600,000¢] % 3t} = 1,800
5) 393 230-02 |15,0009 x40 = 600
4. VFAV TS 34,936 34,936
W - FOIREFERS - RFFREAYL - DALY - wHRFLIAY




At & LA & A= 2022 (A) | 202149 (B)
7h. St RIFA R 05 3 7o 7| v 4,936
1) 98 210-01 50,0009l X 5% X 43]= 1,000
2) A (Yyh) 1,000
7h 7)1 E 210-06 |160,000¢ x 17 x 43]= 640
W) =3} 210—06 90,0009 X 14 x43]= 360
3) d1=w 210—-06 |14,0009 X 31 X 24| 7k x 43] = 336
4) Z3AFA ] A 1) 210-06 |70,0009 x 1% X 43]= 280
5) AEdLdAE 210—07 |500,0009 x43]= 2,000
6) 323 230-02 18,0009 x 20 x 23] = 320
L. A ad e o] g e 2 Al obatH v 10,000
1) Z3Abr () 3,400
7H 71 & 210-06 |160,0009 X 1A]7kx 103]= 1,600
W) %3} 210-06 90,0009 X 2217k X 108 = 1,800
2) AldAAE 210-07 |500,000¢ x 83]= 4,000
3) 2lH] 310—-01 |8,000¢ X259 x103]= 2,000
4) 93 230-02 |15,0009 X 5™ x 83]= 600
o} =] Hol A E A2 20,000
1) 98> 210-01 |50,0009 X 20% X 338 = 3,000
2) A=A 2+ 210-01 |4,000,000¢ x 28] = 8,000
3) AAEE (Yuh) 7,000
7H 71 & 210-06 |100,0009 X 1A]7Fx 403] = 4,000
W) =3 210-06 |50,000¢ X 247 % 303] = 3,000
4) 2H] 310-01 18,0009 x 257 x103]= 2,000
5. 9oAI=ZZ2aHL S 12,500 12,500

7t g g ol ol A1 8,000
1) 258w 620-03 |1,000,0009¢ x 37) .= 3,000
2) &8t 5,000
7hH &9 620—03 |1,000,0009 x 47 1= 4,000
) A 620—10 |1,000,000¢ x 17} = 1,000
U Gojpzu g e 7L 4,500
1) 9% 210-01 |50,000€ X 10% x 33] = 1,500
2) Z3Ar (U 2,400

- LEHY Y - WA LA

o
ol




718 AEFEWSA
714 AR ESF L SA 94 (k] - xd9)
2 o 1=]
gopzg 22| B3| 2% Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
7H 715 210—06 |100,000¢ X 67 x 23] = 1,200
) %3} 210-06 |50,000¢1 X 67 X 24| 7k x 23] = 1,200
3) ¥93 230—-02 |15,0009 X407 = 600
6. dEnSA Y 61,000 36,000 25,000
7h FAN T L ANE LY 41,000
1) €918 n) 210—-13 |20,000,000¢) x 13 = 20,000
2) 7] el ¥4 8-1) 210—15 |21,000,000¢ x 13 = 21,000
U =252 oA AERSY 20,000
1) =58 620—03 |20,000,0009 X 17 m.= 20,000
7. B3t uAL-3 47,000 17,000 30,000
7V ZES/WIY w S 5,000
1) AP (ARh 4,000
7H 71& 210-06 [50,0009 X 27 x403] = 4,000
2) I A =N 210—11 |100,0009 X 10%= 1,000
U AR R 12,000
1) 98 210—01 |100,0009 X205 x 13] = 2,000
2) A (4Rh) 7,500
7H 715 210—06 |50,0009 X 27 X 753] = 7,500
3) HlE -] 2,500
7} 3D HE 430-01 [1,250,0009 x 2t = 2,500
o EEFHFT A 30,000
1) =3t 30,000
7h 620—-03 |10,000,000¢ X 27} 3= 20,000
) A+ 620—10 |10,000,0009 x174i= 10,000
8. HFEETHAL Y3 1,880 3,280 21,400
7h W ad A steE T 3 1,680
1) $98x 210-01 |50,0009 x 8%= 400
2) A En) 210—11 |50,0009 x4%F= 200
3) AATE 960
7H 71E 210-06 [40,0009 x16™= 640
)z 210-06 |20,0009 X167 = 320
4) 93 230-02 |8,0009 x15™ = 120
P - Fold2FTus - AFFFRFANY - A ENGEY - A H5RFLIAY




718 AEFEWSA
A B R At R e R R (5] )
o 1=]
gopzg 22| B3| 2% Agvle %5 ek 20224(A) | 20219(B) | F7HA-B)
L}, whah Al apol ) 200
1) I 220-01 20,0009 x 103 = 200
9. AL ASHALY 35,000 32,800 2,200
7F ZAlEnS 20,000
1) $99% 210-01 50,0009 x 15%= 750
2) A7]8F1] 210-12 |550,000¢ x 157 .= 8,250
3) Ak (YR 10,000
7H 7E 210-06 50,0009 x10% X 203] = 10,000
4) Z¥AFAn] A n) 210—06 20,0009 % 10" X 53] = 1,000
U Y uSEdsAd 15,000
1) 993 210-01 111,000 x10%&= 1,110
2) A Yy 7,200
7 71 &= 210-06 40,0009 X 188+ X 10A]7t= 7,200
3) ZFARAH] 1) 210-06 20,0009 x 188 x 48] = 1,440
4) AR 210-07 [450,0009 x 3t} x 23] = 2,700
5) A= 210—15 |1,700€1 300" X 58] = 2,550
AESAENGEF 4,860 8,481 A3,621
1. A FA D G at e F 4,860 8,481 23,621
7}, A8 BpA] o 3w A 7R 4,860
1) $993F 210-01 50,0009 x 2% = 100
2) A=A 2 210-01 |18,000¢ X 200%-= 3,600
3) HEFTS 1,000
7H & 210—-06 40,0009 X 10 x 23] = 800
) z3 210-06 20,0009 x 10 X 13]= 200
4) 93 230-02 18,0009 %104 x23]= 160
ENNSIA LY 3,908 3,668 240
1. A7 e9x Y 3,908 3,668 240
7h AEet 3 E A 2,220
1) 98=% 210-01 50,0009 x 4F= 200
2) Al A xR 210—07 |350,0009 x 23] = 700
3) A eIH] 210—01 13,0009 %157 x 48] = 780
4) 7+214) 310-01 |3,0009 x20% x 43]= 240
L - FOIREFERS - BFRELEAY - BEHYLY - SARKHY LY




71eE AEZE A
7188 AR EEZ g AA (&9l - 2D
[e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
5) ¥o|3 230—-02 |15,00091 X 207 = 300
U AR SUEY A9 1.688
1) $98F 210-01 |50,0009 x 8% = 400
2) Ak (L) 500
71 7] 210—-06 |160,0009 x 27 = 320
W) x3 210-06 90,0009 x 27 = 180
3) 941w 210-06 14,0009 x 3ull X 24| 7+ x 28] = 168
4) Z3AFAH] ) 210-06 |70,0009 x 19 x 28] = 140
5) 24 310-01 |8,0009 x 30 x 23] = 480
TSP FFAAMNA 648,836 0 648,836
1. ST A| S A A B 648,836 0 648,836
7b SR F AT EH U AR YA LA A 648,836
1) A A 420-02 |604,970,000€ X 5.3199%= 32,184
2) Al 420-03 |604,970,0009 x 14 = 604,970
3) 7Z+aln) 420-04 |604,970,0009 X 1.2299%= 7,441
4) Ao 420-05 |604,970,00091 X 0.701%= 4,241
g9 g} 1,368 3,616 ~2,248
TAFAANA 1,368 3,616 72,248
1. ZAFGAAA 4 1,368 3,616 £2,248
7h e A dAds 768
1) $94F 210-01 |50,0009 x 2% = 100
2) 73R (L) 500
7h 718 210-06 |160,0004¢ x 23] = 320
W) 3} 210—-06 90,0009 x 23] = 180
3) A8 210-06 | 14,0009 x 30} X 4] 7k= 168
U AdEdesssAEd 600
1) ©AF79 210-01 |10,000€ x 309 x 23] = 600
At 4,250 12,455 28,205
=2 Ak 9 1,250 2,455 21,205
1. Adgxs 1,250 2,455 A1,205
A 1 B A e R R 400
1) $98% 210—-01 |50,0009 x 2% = 100
B - ol 2FERS - RFFREAYN - FANAT - AFFA YA




718 AE45HIA
719 AR e S A 4% (9] - H 4
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
2) BEAY TS 300
7F 71 210-06 40,0009 x5 = 200
W) =z 210-06 |20,000€ x5 = 100
LSS CRTAS S S Rl 850
1) $98F 210-01 |50,0009 X 15= 50
2) AEY TS 800
7h 715 210-06 |40,0009 x4 x 53] = 800
AEATLIA Y 3,000 10,000 A7,000
1. 2 9ATFgATn ¢ 3,000 10,000 A7,000
7F AT A8 A 240-01 |1,500,0009 x 27]&l= 3,000
Golms 8,144 8,319 Al75
Gola &L 8,144 8,319 Al75
1. $X9nS33ed 3,644 3,819 Al75
7h A I g A 300
1) A5 A= 210-01 |10,0009 x 30%-= 300
. A A A 2,580
1) 8= 210-01 |50,0009 x 2% x 38| = 300
2) =479 210-01 |10,0009 x 839 = 830
3) AT (LD 1,250
71 7] 210-06 |160,000¢1 53] = 800
W) 23} 210-06 90,0009 x 53] = 450
4) 823 230-02 |8,0009 X 25 = 200
o f A USI A 2 o
1) AsA = 210-01 |4,0009 X 90%-= 360
2) AR (LD 250
71 75 210-06 |160,00091 % 17 = 160
W) 23 210-06 90,0009 x 1= 90
3) ZFATAH] A n) 210-06 |70,00090 x 1= 70
4) 91w 210-06 |14,0009 X 3u X 2A]Zk= 84
2. X YE=AAY 4,500 4,500 0
7). Rt ex gt EA 620-03 |4,500,000¢ % 13| = 4,500
ELgS 55,888 54,000 1,888
WE = FollEF oS - A dEAd - SFus




N8 AEZHEU A
719 AR e S A 4% (el - A )
) o H
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
EFnSE9 55,888 54,000 1,888
1. TS JdAE S 55,888 54,000 1,888
7t B EA AAE L 55,888
D 3744 3,960
7H AAA TS 210-01 |80,000€ x 12F= 960
) 2k 71 o] 7 u) 210-01 |300,0009 x4 = 1,200
b FAFEo 210-06 [100,0009 X2 X 63]= 1,200
2h) 2] 3 230-02 |15,0009 x 10 x 43]= 600
2) EFASTEAN (N2H) 20,768
7H 9 8&% 210-01 |20,0009 x50 x 43]= 4,000
) AFsA = 210-01 |50,0009 X 20%= 1,000
) Ak (L4 6,000
(1) 7]+ 210—-06 |50,000¢ X 69 x 20| = 6,000
2}) ZFAFAlE] 7 ) 210-06 |20,0009 x 5™ x203] = 2,000
nh) xpEkd At 210-07 |500,000¢] x 4t} = 2,000
v A g5 210-15 |20,0009 x50 x 53] = 5,000
Ab) 28] 310-01 |8,0009 %24 x 18] = 192
o}) 7+21n] 310—-01 |3,0009 %24 x 83| = 576
3) FFuHAA 2,200
7h 9 EE 210-01 100,000¢1 x4 x 33]= 1,200
W) A=) 210-11 20,0009 x 20 x 28] = 800
) ZAbr () 200
(1) 71 210-06 |50,0009 x 29 x 23] = 200
4) ST uAtdTy A 5,130
1 $ALE 210—01 |50,000¢ x73]= 350
) A 8] 210—-11 |20,000€ X159 x 43| = 1,200
th) =49 210-01 |10,000€¥ x 15 x 28] = 300
eh) A (L) 1,000
(1) 71% 210-06 |50,0009¢1 x5 x 43] = 1,000
) Yug 210-06 |14,000¢ X 60l x5 = 420
uh) 2perel Al e 210-07 |500,0009 x 1t}= 500
AP A EEEn) 210—-15 20,0009 x 157 x 28]= 600

10




R A= R 9
At & LA & A= 2022 (A) | 202149 (B) (A-B)
o}) AlH] 230-02 18,0009 X197 x 23| =
Z}) ZF214) 230-02 13,0009 X197 x83]=
5) e A2 A
7H +9EF 210-01 |50,00091x5% x 23] =
W) =2 A = 210-01 10,0009 X107 X 53] =
th) A (dRh
(1) 71& 210-06 |100,000¢ X 207 x 23] =
6) =3 A= - ASFSs
7H -9 8= 210—01 [15,000¢ %20 x43]=
) ZAEEE (AEh)
(1) 7|1& 210-06 | 100,0009 X5 X 43]=
th) A& &= 210-15 10,0009 X 207 x 48] =
7) R AFFEE
7H A=A = 210-01 |200,0009 X 10%&=
8) YRk n]
7H 8= 210-01 |100,0009 X 203]=
) AT 210-01 |10,0009 x 219 =
) AFHLEE 210-01 |127,5009 x 8% =
2 A3t 210-02 40,0009 x12¢€=
u}) A Z=7] e n) 210-13 30,0009 x12¢¥=
nh) 23k7) e 210-13 |150,00091 x 129 =
AD oA w T 430-01 |1,000,00094 x 1=
o) HZxF 87| 430-01 |1,000,000¢ x 1t)=
9) =ujoin]
71 %3 220-01 20,0009 x4 x 31 =
) 2 220—-01 20,0009 x4 x319=
I A TS 16,000 A11,520
FARELY 16,000 211,520
ARSI B A 16,000 A11,520
7F A S LY
1) &9 8= 210-01 |100,0009 X 10%=
2) Ao+ 210-02 |30,0009 x12¢9=

11




718 AEFEWSA
BEEdus Ay )
A S E=A= =t 2022d(A) | 202149 (B) (A-B)
3) ClEJYIZ AN 210—-02 80,0009 x 129 = 960
4) A7) 3 210-09 |60,0009 x 129 = 720
5) FolA4n g 210—-13 |120,0009 x 129 = 1,440
=A% 22,236 46,054 £A23,818
EE=EASSY 16,866 42,940 226,074
CEAEZaSRY 16,866 42,940 A26,074
7h FA AT 5,580
1) St 620-03 |1,000,0009 X 57 1= 5,000
2) $A99E 210-01 |50,0009 x 4% = 200
3) Ak (dah) 300
71 75 210-06 |100,0009) x 27 = 200
W) 23 210—06 50,0009 x 2% = 100
4) 393 230-02 [8,0009 x109 = 80
vt ghekr sk el 71 A1 9,452
1) 992 210-01 |50,200¢ X 5% x 28] = 502
2) A F-9] 210-01 10,000€ x 307 x 257} L= 7,500
3) A (4R 1,250
7h 75 210-06 |160,000¢1 x5 = 800
) %3} 210-06 90,0009 x5 = 450
4) 393 230—02 |8,0009 x 259 = 200
o S IS¢ 1.834
1) &98% 210-01 |50,0009 X 9% x 28] = 900
2) TA]T4] 210-01 |31,7009 %10 x 28] = 634
3) 393 230-02 15,0009 X 10 x 28] = 300
£9 5,370 3,114 2,256
dasABLIx Y 5,370 3,114 2,256
7. B 3 = A T S ARA m el 2] 2] o 2] 5,370
1) S99% 210-01 |100,000¢ X 2% X 67} .= 1,200
2) A (YR 2,700
7H 71E 210-06 [100,0009 x 374 x 67} L= 1,800
) =3 210—-06 |50,0009 x 39 X 67] L= 900
3) 43| o9n 220-01 20,0009 x 27 x 308] = 1,200

12




7F. w7l ol 3
D £33
7h &g E&E
W) A

() 71
2) =%
th A
2h) k2]
nh) Adexd

2) W=l
7 @8+
W) Adrd

210-01 |50,0009¥ X 25%F=

210—06 |40,0009 x 257 =
210-06 20,0009 x 259 =
230—-02 8,000 X304 =
310-01 |3,000¢ x2007 =
310-01 |10,000¢1 X200 =

210-01 |50,0009 X 10& x23]=

7|8 NS5 A
EEEHuSALH )
A < LA & AFEU S 2022 (A) | 202149 (B) (A-B)
4) 43 230-02 |15,0009 X 67 x 38 =
123,835 86,555
EEgF 54,520 80,200
1. PR &2 Y 54,520 80,200
7h A adEol 324l
1) &498% 210-01 [100,0009 X 20%=
2) A" (ot Al 9 A45) 210-13 4,500,000 X 17 m=
3) AAA AN 420-02 |100,000,0009 X 8.42%=
4) A]/dn] 420-03 |100,000,0009 x 17} 3=
. 25stuntgdsold x4 620—03 9,900,000 x 2743 =
AEASEF 69,315 6,355
1. A=2dA59 g 4,000 0
7 A= @3 A S 8]
1) A 310-01 |50,0009 % 40% x 28] =
2. 71 EtA & 3] 19,700 510

(1) 7= 210-06 40,0009 x 107 =
(2) =3 210—06 20,0009 X 10% X 24 k=
o A 230-02 18,0009 x 25% =
o) A 310-01 |150,0009 x 1074& =
3) A7 3]
W& — FolUEEFE NS — WF A - 5SS - AFASEE

13




7B AZZHEY A A
B REEREES SESEE (e A
(e} =]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
b e g 21001 50,0004 x 10%= 500
) A 009
(1) 7]% 210-06 |40,00091 %108 = 400
(2) 23 210-06 |20,0009 %107 = 200
t}) 2] 310-01 |8,0009 x100%= 800
gh) 7H21h) 310-01 |3,000¢ %1008 = 300
nl) A4 310-01 |10,0009 x 100 = 1,000
1) )3 2280
h $deE 210-01 |50,00091 X 10%= 500
Wb e 1o
(1) 7] 210-06 |40,000€1 x 8% = 320
(2) %3} 210-06 |20,0009 x84 = 160
th 7H2H] 310-01 |3,00091 %100 = 300
b N ma 310-01 |10,000€1 %1007 = 1,000
o 587k ) 5 >0t
1) )3 oot
7} $deE 210-01 |50,0009 X 23%= 1,150
1}) Z:uhn) 210-07 |50,0009 x 34 x 23] = 300
th ol ate 210-07 |550,0009 x 2t]= 1,100
2}) Alh)| 310-01 |8,0009 X607 x 53] = 2,400
u}) 7FA1n) 310-01 |3,000€ X607 x 38]= 540
vh) & <] 3] 230-02 |15,0009 %104 = 150
3. HFHEY 51,460 45,615 5,845
R R 11,000
1) 25381 620-03 |500,0009 x 399 = 19,500
2) Tt 21,500
1 =9 620—03 |500,0004¢ x 251 = 12,500
) A 620-10 |500,000¢) x 187 = 9,000
. Aadur2d d A4 2,460
1) A3 =ARAn) 620-03 |30,000¢l x 8219 = 2,460
ok 5 - SAEEA Y 8,000
1) TAeE 210-12 250,000 x 4% x 83| = 8,000
W - Foldl TS - A5t HFgsAd - SHEsAd - 45ASSE
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e AEZHEY A
78 AR EE LA A% (el - de
Z [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
A A YA T 72,040 55,760 16,280
S P E SR | 2,660 4,287 21,627
1. SRR S AuA 2,660 4,287 21,627
7F. SRR 1] 3] 2 2,660
D wEsddaed 2,660
b 258t 620-03 |1,330,0009 x 27} = 2,660
SgZeody gs 18,232 10,080 8,152
1. SnZ e uA] e 18,232 10,080 8,152
7}. ?‘i}ﬂ%%ﬁ‘ A 3,268
AL E 210-01 [100,0009) X 15%= 1,500
2) IR () 500
7} 7]8 210-06 |160,00091 x 11 x 23] = 320
) 23} 210-06 90,0009l X 17 x 23] = 180
3) g 210-06 [14,0009¥ x 31 X 17 X 2A] 7k x 23] = 168
4) AR 210-07 |500,0009 x 13| = 500
5) &< 3 230-02 15,0009 X 207 x 23] = 600
REEETAEAS] M eSS A e N T 2,800
1) $99% 210-01 |100,0009 X 10%= 1,000
2) 7+-214) 310-01 [3,0009 X 307 X 108+ X 2A] k= 1,800
TR M R R R R Rk 12,164
1) o9& 210-01 |100,0009 x5% x23]= 1,000
2) &715% 210-06 |150,0009 X 343k % 53] = 2,250
3) AT 5,250
74 7 & 210-06 |100,0009) X 773 X 58 = 3,500
W) 23} 210-06 |50,00091 X 77 x 58] = 1,750
4) ZEAER (L) 1,720
71 782 210-06 |160,00091 x 21 x 23] = 640
) %3} 210-06 90,0009 X 27 X 347k x 23] = 1,080
5 Yug 210-06 | 14,000€1 X 67 X 3|7k x 23] = 504
6) Aol E 210-07 |300,0009 x 23] = 600
7) &2 3 230-02 15,0009 X 147 x 48] = 840
SR EEET 49,920 40,165 9,755
W - fOlRERFERS - AFNFTEAN - STYPBAE - FPFRRE
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7@d AEDEYIA
R e E R (24 - 4 8)
(e} =]
Bopmn ?’} Z; ?};3 jg Arelu el == Qetl 2022 (A) | 20214(B) | F#(A-B)
1. 9 (WEE)Z2 A E2 37 ¢ 49,920 40,165 9,755
7}, AEAEQl E o) 220-01 20,0009 x 3% x1053] = 6,300
U, 9-o3n] 31,920
1) e98= 210-01 50,0009 X5& x108]= 2,500
2) T3 QFHAIA S]] 210-02 |300,0009 x12¥= 3,600
3) X2 1A:Le-n) 210-15 |2,000,000¢) % 43]= 8,000
4) A AAFE N 210-15 |440,0009 x18]= 440
5) A2 HAAFA AN 210-15 |300,0009 x 31 = 900
6) TH83FEA = 210-01 |2,000,0009 x13]= 2,000
7) A X 7 AN 210-15 100,0009 x84 X 103]= 8,000
8) &= u A 210-15 |300,00091 x 67 = 1,800
9) o14=n] 210-15 |150,0009¢ X 38 x 23] = 900
10) HE2}2-9 1] 210—10 200,000 x103]= 2,000
11) 24 310-01 8,000€ x 357 x43]= 1,120
12) 7+214) 310-01 |3,00091 x35% x48]= 420
13) 93 230-02 |15,00091 x 87 x 28] = 240
o}, AR s wAke g 11,700
1) £3| WA Sh) 210-15 |100,000¢ x 3= 300
2) 4=3]ojn] 220-01 |20,0009 x 34 X 1603] = 9,600
3) #3159 240-01 |50,0009 x 3% x129= 1,800
g QlA ) 1,228 1,228 0
1. YA A 1,228 1,228 0
7t S A P 1,228
1) 98 210-01 |3,0009 X529 = 156
2) AP &En] 210—-15 |3,00091 x52™ = 156
3) el w 210-07 |500,0009 x 1vj= 500
4) A 230-02 |8,0009 X521 = 416
AzASTS 50,000 40,000 10,000
Az TL$Y 50,000 40,000 10,000
1. 1205843} 10,220 0 10,220
7h AR A A g A 9 2,000
1) S98=% 210-01 |50,0009 X 17F % 28] = 1,700
WG - frotl 2T TS - FeF LAY - AT ug - W2t u gy
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Aol B Az 2022 (A) | 20214(B)

2) 49| 3| 230-02 15,0009 X 107 x 23] = 300
U A2 usoe 8,220
1) $94F 210—-01 |50,0009) X 20% x 23] = 2,000
2) AR (Y 1,000
71 7] 210-06 |160,000¢1 x4 = 640
W) %3 210-06 90,0009 x 47 = 360
3) A &n] 210-15 |20,00091 %307 x 53] = 3,000
4) AR AA= 210-07 |500,0004¢ x 28] = 1,000
5) &9l 3 230-02 |15,00091 x 157 x 23] = 450
6) 211 310-01 |8,0009 x 35 x 23] = 560
7) 7+414) 310-01 13,0009 X 35% x 23| = 210

2. AZAPYEZ=ET 39,780 40,000
7h A EZ SR 30,000
1) 258tw 620—-03 |1,500,0009 x 137 3= 19,500
2) T 10,500
1 E9 620—-03 |1,500,00091 X 67] 1= 9,000
) A 620—10 |1,500,0009 x 17} L= 1,500
Lk A E S A3 9,780
D) Ak (d 1,200
7hH 71 210—06 100,000 x 6% x 28] = 1,200
2) A &dn] 210—-15 |27,00091 %1207 x 23] = 6,480
3) A= 210—-07 |500,000€ x 2t} = 1,000
4) An] 310-01 |8,0009x100%= 800
5) 7F2H] 310-01 |3,00091x100% = ey

1,600 1,600

HdgAg A 1,600 1,600

 ZSREARA 1,600 1,600
7b F A 1,600
1) $ojg= 210-01 |50,0009 x 4%= 200
2) AAA Y55 210—-01 |1,100,0009 x 18] = 1,100
3) 393 230—-02 |15,00091 X 10 x 23] = 300

1,026,350 804,976

17




18

SEEER R
BEEFLEA U3 4
A S A5 AEU S 202249 (A) | 20214 (B) (A-B)
A 730,140 570,245 159,895
W3} 5.8t 5 9 726,420 566,995 159,425
W5 sty 84344 2,500 1,935 565
7h St A2 ] 1,900
1) $9dg= 210-01 |50,0009 X 5% x 23] = 500
2) A (2nb) 300
71 7] 210-06 |100,000¢1 x 23] = 200
W 21 210-06 |50,0009 x 23] = 100
3) An 230-02 |8,0009 x50 x 23] = 800
4) 72 230-02 |3,0009 x50 x 23] = 300
L 5 e Y 2 3] 600
1) 93 23002 |15,00091 X 10 x 43]= 600
R e MR = P | 421,100 262,660 158,440
7b. W SnpSg el £ 210-13 |35,000,0009 x 12717] g= 420,000
v AE7 8 1,100
1) $9g= 210-01 |100,0009 x 23] = 200
2) AR 600
b 75 210-06 |40,0009 x5 x 23] = 400
W) %3 210-06 |20,0009 x5 x 23] = 200
3) &9 3 230-02 |15,0009 x 107 x 28] = 300
3.4 AFA AAH IR A A 2,820 2,400 420
7h A A 2820
1) S8 210-01 |50,0009 x 10 x 28] = 1,000
2) oin] 820
7H 220-01 |20,0009 x 17 x 248] = 480
) 79 220-01 |40,0009 x 178 x 53] = 200
th) %9 220-01 |70,0009 x 1% x 28] = 140
3) AFE3A AN 430-01 |500,0009 X 2%= 1,000
4. BHFSGa2 AL 300,000 300,000 0
A\ ) o =R A 170,000
1) 2538tw 620-03 |15,900,000¢ x 57} .= 79,500
9) 28w 42,800
T - wFHA - RER s R A S




718 AEZE YA
R I ot o R R (k1 = 22l
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
7hH 2 620—03 |11,400,0009) x 27} 3= 22,800
) AbY 620—10 |20,000,0009 x 17}iL= 20,000
3) 153w 47,700
7h 9 620-03 |13,900,000¢ x 27} .= 27,800
W) A 620—10 |19,900,0009 x 17} 3= 19,900
LA SR SR s R 130,000
1) Wa3npe sy o 210—-13 |130,000,0009 x 1717] %= 130,000
ZRFALd 3,720 3,250 470
l.E2zg 789 3,720 3,250 470
7h s EwdEAds 3,720
1) $94F 210-01 |42,0009 x 5% % 23] = 420
2) AT (LD 300
7h 71 210-06 100,000 X1 x 23] = 200
) =3} 210—06 50,0009 %1 x28]= 100
3) SFA w57 210-12 [20,0009 x 254 = 500
4) A= 210—15 |35,0009 x 257 x 23] = 1,750
5) &2l 3] 230-02 |15,0009 X 257 x 23] = 750
olzs S ANA 283,750 221,216 62,534
rolastnuSaA st 283,750 221,216 62,534
1. o2 uSxg 283,750 221,216 62,534
7b v RS A A S 283,750
D AGUE A2 Y 23,000
7h LG 8E 210-01 |50,0009) X 73%= 3,650
) A (AR 750
(1) 7| & 210-06 160,000 x 3= 480
(2) %3} 210-06 90,0009 x 31 = 270
th &2 3 230—-02 |15,00091 x40 = 600
2}) vle w3 620-03 |2,000,000€ x 47} 3= 8,000
o}) AbAE 8 E ol g 620—-03 |1,000,0009 x 107} 3= 10,000
2) =ZABINE 20,000
7h £ 8E 210-01 |50,00091 X 4% x 103]= 2,000
W) A5 A= 210-01 25,6009 X 200%-% 23] = 10,240
B - FOlEFERS - LHEA - FolESaAFAANA — FolEFa L LY
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7|88 &5 9A
EEEHuSALH
At & LA & A= 2022 (A) | 202149 (B)

) AESFG 210—06 |40,0009 X 127 x 73] = 3,360
Zh) AEAEdaE 210-01 |5,0009 x 220v) = 1,100
ul) A= 210-07 |500,000¢ x 34 = 1,500
wh) 3 9 3 230-02 |15,0009 %127 x103]= 1,800
3) TF I HA-L 3] 13,000
7 g8 = 210-01 |100,0009 X 15%&= 1,500
W) 2R EE 210-01 [100,0009 X 30% x 23] = 6,000
oh) F- A A H] 210-01 |100,000€ X 307 = 3,000
) R EA = 210-01 |100,0009 X 10%&= 1,000
ul) 3 9] 3 230-02 |15,0009 %107 x103]= 1,500
4) EHHETZAE 6,000
7h L2 AE -GN 6,000
(1) 3% 620—03 |3,000,0009 x 17 1= 3,000
(2) A+ 620—10 |3,000,000¢ x 17} = 3,000

5) vheAA 7 HEEetEA 60,000
7H = 620—03 |2,400,000¢ x 2374 i = 55,200
) A 620—10 |2,400,0009 x 27 .= 4,800
6) A adv|t)o] el el 2] A S 7.000
7b) A 2w tlof el € 2 Ao}t vl 2,760
(1) *9e= 210-01 |15,000€ X 10%& x103]= 1,500
2) 915 210-06 |14,0009 X 31 X 34]7kx103] = 1,260
W) Fadiad sy +240
(1) =A79] 210-01 |19,0009 X3F X 20¢@= 1,140
(2) 219) 310-01 18,0009 x 20 X 103]= 1,600
(3) 893 230-02 |15,0009 X207 x 53] = 1,500
7) E3tel=uSA Y 61,000
7H P 8=E 210-01 |100,0009 X 37%&= 3,700
) AR (AR 27,000
(1) 71 & 210-06 50,0009 X 6% X 90A| k= 27,000
) &A= 210—13 |15,000,0009 x 12 = 15,000
2 39 3 230-02 |15,0009 X107 x 23] = 300
vh) A st 15,000

20




7188 AE4E WA
719 AR EEdne x93 (ko] - 2 <)
2 [e) 1=}
Fof i ?’é ?};3 fg AFAH S S-A5 AEeg 2022 (A) | 20219 (B) | SH(A-B)
(1) =¥ 620—-03 |2,500,00091 X 57 3= 12,500
(2) AHY 620—10 |2,500,0009 x 17} L= 2,500
8) $H73 el 15,000
h $deE 210-01 |100,0009 x6F= 600
W) =AM 210-01 |20,0004 x 509 = 1,000
t}) AbEH) 210-01 |10,0009) X787 = 780
2}) A3 210—-01 |20,0009) x 457 x 23] = 1,800
mh) AR (A 640
(1) 71 210—-06 |160,0009 x 27 x 23] = 640
vl A Apg=gk 210—-06 |40,0009 x 10 x 28] = 800
Ab ¥ 23] 230-02 |15,0009 X107 x638]= 900
o}) 7+21n] 310-01 |3,000€ x16% x103]= 480
2 e e g 620—03 |4,000,0009 x 27} 3= 8,000
9) FErt=AAH 48,750
7h 9 8% 210-01 |50,0009] X 27%= 1,350
}) gEn) 210-06 30,0009 x 407 X 383 = 45,600
) A (AR 1,000
(1) 712 210-06 |160,00091 x 4= 640
(2) %3} 210-06 |90,0009 x 47 = 360
) A1) 310-01 |8,0009 x40 = 320
o) 7HAn) 310-01 |3,0009 X407 x 48] = 480
10) A sA=A LA A5 30,000
7 S eE 210-01 |50,0009 % 13]= 50
) A 210-13 |20,00049 X 4007 x 33| = 24,000
th) kel at s 210-07 |350,0009 x 17th= 5,950
SEAXY 12,460 13,515 21,055
AEER SR 10,120 10,120 0
1. I§EX AR QL5 #a) 10,120 10,120 0
7h wEEA A 1,120
1) $98F 210—-01 |45,2009 X 10%= 452
2) AT (LD 500
7hH 71 210-06 160,000 X1 x 23] = 320
W - FOIRT TN - WHEA - WEEAAY - wEHAAA L
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Z1#E AEdEWSA
dECREEEA S FREEEE (5] = A)
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
W) =3 210-06 |90,000¢ x 174 x 28] = 180
3) dug 210-06 14,0009 x 3vll X 24| 7k x 28] = 168
. #7158 € 9.000
1) 917182 = ¢n] 210-15 |50,000€ X 18% X 103]= 9,000
GEEEo|EF T A R FH A 2,340 3,395 41,055
1. 23 w14 2,340 3,395 A1,055
7b @A RS A S g 2,340
1) S98= 210-01 50,0009 x 4%= 200
2) el w 210-07 |700,0009l % 1tj= 700
3) Agn] 210-12 |25,0009 x40 = 1,000
4) AH) 310-01 |8,0009 x40 = 320
5) 7+21H] 310-01 |3,0009 x40 = 120
RAFH 2,027,608 2,450,782 A423,174
AR 4,409 3,338 1,071
18 ATa) 1,729 1,138 591
1. RATSHAL3 1,729 1,138 591
7h HA AL 925
1) $983% 210-01 |30,0009 x 2% x 108]= 600
2) ZArr (R 70
71 7] 210-06 |50,0009 x 1= 50
W) %3 210-06 |20,0009 x 1= 20
3) 393 230-02 |15,0009 x17%= 255
U A 2SS A 1S 370
1) 98 210-01 |35,0009 x 23] = 70
2) ZEAER (L) 300
71 75 210-06 |100,0009) % 27 = 200
W %3 210-06 |50,000€ x 29 = 100
ok Fe o E TS 434
1) 98=% 210-01 |50,0009 % 2% = 100
2) Ak (R 250
7 71E 210-06 |160,0009 x 1= 160
W) x7 210-06 |90,0009 x 17 = 90
W = FolBlETeus - BaFA - B3ide] - urdde
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R e E R (24 - 4 8)
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
3) 9w 210-06 |14,0009 x 3v] x 24 7k= 84
s34 A B 2,680 2,200 480
IREEEES 430 390 40
7} BESFAAAL 430
1) #AAESE 210-01 |10,000€ x 39t = 390
2) $99F 210-01 |10,0009 x 4%= 40
2. FAFHISHFRS 2,250 1,810 440
7 A58 RS 93] 2,250
1) S98=% 210-01 |50,0009 x1%= 50
2) ZA ) 210—06 |100,000¢ x 11 x23]= 2,200
ESEE) 2,023,199 2,447,444 A424,245
3229 1,617,650 1,655,687 A38,037
1§42 57389 3,222 3,332 A110
7k QR (@) AL FA H A A 884
1) $99x 210—01 |50,0009¥ X 2% x53]= 500
2) A5 (AR 300
71 718 210-06 |100,000¢1 x 29 = 200
W) =3 210-06 |50,0009 x 2% = 100
3) = 210—06 |14,0009 X 31} X 2A] 7= 84
st e gl gy 1,620
1) &51) 310—01 |50,00091 X 1573 x 23] = 1,500
2) 393 230-02 |15,0009 x4 x 23] = 120
ok FAFAAS LA S 384
1) 98 210-01 |50,0009 x 3%= 150
2) AR (LD 150
7H 71 & 210—06 |100,000€ x 1= 100
W) 23 210-06 50,0009 x 1= 50
3) Y7 210-06 |14,0009 x 3w x 2A] 7k= 84
2h S A E A A 334
1) $99% 210-01 |50,0009 X 2%&= 100
2) ZAHF R (L) 150
7H 71 & 210-06 |100,000¢ x 1= 100
B - fOREFEDE - HAFA - FA%Y - FAFAEY
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W OoF Arel el Atel A S E=A= 2= < 2022d(A) | 202194 ®B) | SH(A-B)

) 3 210-06 |50,000¢ x 1= 50
3) = 210-06 |14,000€ x 31 X 24| 7k= 84

2. w244 1,414,220 1,363,966 50,254
7F 429 (29) 620—03 84,679,000 = 84,679
v =58 620—03 |522,749,0009 = 522,749
o} =aw 405,868
1) 29 620—03 |305,702,0009= 305,702
2) AH 620—10 |100,166,000¢= 100,166
g2t 258w 400,924
1) 29 620—03 |197,658,000¢= 197,658
2) AHY 620—10 |203,266,0009= 203,266

3. $FEEFAET AR 60,000 60,000 0
7F 29 (39) 620—03 3,206,000 = 3,206
v 258w 620—03 |22,415,0009 = 22,415
o}, =8t 15,583
1) 39 620—03 |11,793,0009= 11,793
2) AF 620-10 |3,790,000¢1= 3,790
2. 158w 18,796
1) 29 620-03 |9,042,0009= 9,042
2) AHY 620—10 9,754,000 = 9,754

4. AP ASAEX L 125,508 129,689 £4,181
7F 29 (FE) 620—03 |7,012,0009= 7,012
U, x5su 620—03 [43,995,000¢= 43,995
= =t A 36,120
1) 29 620—03 |27,484,0009= 27,484
2) AHY 620—10 8,636,000 = 8,636
gt 15w 38,381
1) 29 620—03 |18,480,0009= 18,480
2) A 620—10 [19,901,000¢= 19,901

5. 8w 24 - ukxER-e- o A | 14,700 98,700 284,000
7} S22 =249 1] 620—03 |2,450,0009 X6t = 14,700

st FA A MNA 405,549 791,757 386,208

- @fﬂ%é}:ﬁ;%7ﬁ}f_ 24




713y AEREEF 93 (5] )
= )
gopzg A3 | T2 | N7 NERTE = SENL 20224 (A) | 20219(B) | 24 (A-B)
1. st FA 7| FUA LG 405,549 791,757 386,208
7F =%w A 7] A 14,633
1) 58w 620—04 |13,409,000¢= 13,409
2) F8ti 1,224
7hH &+ 620—04 |1,224,0009= 1,224
. w4 A 2 d gt 390,916
1) B2kx 390,916
7hH) A12n) 380,114
(1) =84 420-03 |3,234,00091 X 118m' X 59.9999%= 228,967
(2) A 420—-03 12,032,000 X 91 m X 59.9998%= 110,947
(3) dAEw 420-03 |2,010,0009 X 20m'= 40,200
h) Al Ein) 420—05 |380,114,40091 X0.72%= 2,737
th) 7] Fo]Adn] 620—03 |3,000,000¢ x 12 = 3,000
2h) FAu] 2}l B dn) 620—03 |5,065,0009 x 14 = 5,065
st A AR L HE 6,374,171 5,594,409 779,762
TR RE) PO 4,709,627 4,001,215 708,412
AR | A K| 4,709,627 4,001,215 708,412
1. st 7| E-8-9H) 4,686,188 4,001,215 684,973
7F 29 620—02 |690,507,000¢= 690,507
. =58 620-02 2,751,851,0009= 2,751,851
t}. Z&w 620—02 |1,243,830,0009= 1,243,830
2. & a7l u] x4 23,439 0 23,439
7}, mskG o AN 23,439
1) =58 620-04 |17,437,0009= 17,437
2) Z&u 620—04 6,002,000 = 6,002
A EHA A A Y 1,664,544 1,593,194 71,350
QAN AAATA Y 1,383,881 1,358,575 25,306
1. A A¥ AR A SR Z 1,383,881 1,358,575 25,306
75 el AN A Y 620—08 |1,383,881,0004= 1,383,881
LG AAATA Y 280,663 234,619 46,044
1. SGu|ARATRZ 280,663 234,619 46,044
7}, S 7] B8] 620—09 |280,663,0009= 280,663
P& - fobnEFEus - uAgAdny - AAGAY - gAY ARA Y 95




7|88 &5 9A
714 AR ESF L SA 94 (el - dd
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
st Al Aol AN 5,255,583 3,247,850 2,007,733
st A 7|4 5,255,583 3,247,850 2,007,733
S A| &S 88,334 83,585 4,749
1. =3 AL EFEA 9,000 14,872 NA5,872
A 9,000
1) A1AH] 9,000
H =& % 420—03 |132,340€ x68m'= 9,000
2. FuAA 79,334 68,713 10,621
b AT ZE 79,334
1) A A 420-02 |75,830,0009 X 4.62%= 3,504
2) AWH] 75,830
7H %% 420-03 75,830,0009 x 12] = 75,830
St A EA A 5,167,249 3,164,265 2,002,984
1. ZAg A 3,056,354 1,090,846 1,965,508
7F - AntEN St (R F ) 720,057
1) A1AH] 720,057
70 A== 420-03 |720,057,0009 X 12]= 720,057
B 256,627
1) A AN 420-02 |242,650,0009 X 4.89%= 11,866
2) A|Adn] 242,650
7hH =A% 420—03 [10,550,0009 x 34 = 31,650
W) 9 x 420-03 [10,550,0009 x 134 = 137,150
= DR 420-03 |10,550,0009 x 721 = 73,850
3) Al H-tfv] 420-05 |242,650,0009 X0.8699%= 2,111
o} 2R w A 237,460
1) A A 420-02 |223,800,0009 x5.181%= 11,596
2) Al%dn) 223,800
H =3 % 420-03 [22,380,0009 x 6= 134,280
W) 29 x 420-03 [22,380,0009 x4 = 89,520
3) A|AEfH] 420-05 223,800,000 X 0.922%= 2,064
2. gl n s 203,147
1) AAn] 420-02 1191,250,0009 X 5.281%= 10,100
W - FOFREF RS — AN — SEAAAL - SA LA
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EEEHuSALH )
At & LA & A= 2022 (A) | 202149 (B) (A-B)

2) Al/dn] 191,250
7h = ZE=e) 420-03 |33,000,0009 x 14 = 33,000
) B3 =(94) 420-03 5,275,000 x 304 = 158,250
3) Al -t v] 420-05 |191,250,000€ X 0.9396%= 1,797
vl X 5K 4 93,384
1) AAn] 420-02 |88,860,0009 X 4.3247%= 3,843
2) Al/dn] 88,860
b == 420-03 |29,620,0009 x 34 = 88,860
3) A|AEfH] 420-05 |88,860,0009 X0.766%= 681
v, 2 AvEn gy 1,527,609
1) A1AH] 1,527,609
O = 420-03 |1,527,609,0009 x 14] = 1,527,609
Ab. 7€k 18,070
1) A1AH] 18,070
7 AR Z (FAFEA) 420-03 |18,070,000¢ x 14 = 18,070

2. FFAIENA 11,945 11,301 644
7V S 11,945
1) A]AdH] 11,945
7H FA 420-03 |11,945,0009 X 17} &= 11,945

3. Al ERPEANA 1,096,267 546,597 549,670
7F AEAA 31,799
1) A1AH] 31,799
7H 249 x 420-01 [4,0009 x209m'= 836
W) FAkx 420-01 |4,00091 % 382.2m'= 1,529
hH 2o x 420—01 |4,0009 x1,845m'= 7,380
) =30l = 420—01 |4,0009 x2,338.7m'= 9,355
vh) =AY AL 420-01 14,0009 x3,174.7m'= 12,699
w8 (A ) A 28,291
1) A7) 420-02 126,978,0009 X 4.866%= 1,313
2) A17dn] 26,978
7hH ZYx (GG A v 420-03 |13,489,0009 x 24 = 26,978
ot} SeEfolH| En A 559,280

|27 -
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7134 YRR F S A 9 (9] 4D
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)

1) AAH] 42002 [529,108,0009 X 4.866%= 25,747
2) A% 529,108
7H SH 420-03 |17,068,000¢ x 34 = 51,204

W) &3= 420-03 |17,068,0009 X 641 = 102,408

o Fgx 420-03 |17,068,000¢ x 224 = 375,496

3) Al F-ofv] 420-05 |529,108,000€ X 0.8363%= 4,425
2t QI EH 7 379,329
1) AAn] 420-02 |358,428,0009 X 4.8659%= 17,441
2) Al/dn] 358,428
7H eHAG 420-03 |17,068,0009 x 321 = 51,204

W) o3z 420-03 |17,068,0009 x 94 = 153,612

o) THx 420-03 |17,068,0009 x 34 = 51,204

) &3= 420-03 |17,068,0009 x 34 = 51,204

) BE=x 420-03 |17,068,0009 x 32 = 51,204

3) Al EyH] 420—-05 |358,428,000¢ X0.9653%= 3,460
o}, -3 44,966
1) A7 420-02 142,880,0009 X 4.8647%= 2,086
2) Al/dn] 42,880
7H ==k % 420—-03 |670,000¢9 X 64mr= 42,880

ub, WY S H 52,602
1) A 42002 |49,648,00091 X 4.8682%= 2,417
2) Al7dn] 49,648
7h AL 2 Y EE) 420-03 |4,824,0009 x 77} 4= 33,768

W) =3AL (B3 E) 420-03 17,940,0009 x 27 n= 15,880

3) Al - 420-05 149,648,000 X 1.08%= 537

4. RSN 598,055 549,648 48,407

= 12,834
1) A1AH] 12,834
7hH =3 x 420-03 |558,0009) X 23m= 12,834

L w2 35,500
1) AAH] 420-02 |33,440,0009 X 5.34%= 1,786
2) AlAdH] 33,440

SwAEAANA — S ENAA - St
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7|8 AEZ5 UG A
7189 AR EsduSAYH (el - dd
2 o) 1=
gopzg 22| B3| 2% Aol %A ENE 202241(A) | 20214(B) | F7HA-B)

A e 420-03 |352,0009 X 35m= 12,320

) sA 420-03 |352,0009 X 60m= 21,120

3) A AR ojn)] 420-05 |33,440,00091 % 0.8193%= 274
ok X% 426,225
1) A AH] 420-02 |400,500,0009 X 5.54%= 22,188
2) A1Adn] 400,500
7H =ZF QI 2FHA) 420-03 103,000€ X 600m = 61,800

) BEEz(oz=aA) 420-03 |103,0009 X 2,550m' = 262,650

o} BEE (o} AZ) 420-03 |21,0009 % 2,150m'= 45,150

2 FA (A FHFHA) 420-03 |103,0009 X 300m'= 30,900

3) A A ojn)] 420-05 |400,500,0009 X 0.883%= 3,537
g} dAdxE 81,450
1) Al4dn] 81,450
7H == 420-03 |1,810,000¢ X 45m= 81,450

u}. 7] e} 42,046
1) A A H] 420-02 |26,800,00091 % 5.835%= 1,564
2) Awu] 40,192
7Y e=Z=d 2 (HAAIR) 420-03 [670,0009 X 40m'= 26,800

) FA (B A ) 420-05 |558,0009 X 24m= 13,392

3) A A8 420-05 |26,800,0009 X 1.08%= 290

5. A7\ AANA 101,500 78,992 22,508

7} 2" Al (LED) 5,140
1) A1AH] 5,140
7hH 2gx 420-03 2,570,000 x 24 = 5,140

L, Alekg ke 67,770
1) A An] 420-02 |62,700,0009 X 7.177%= 4,500
2) Al’dH] 62,700
O R=ES 420-03 |1,140,0009 X 55ki= 62,700

3) A A Hn] 420-05 |62,700,0009 X 0.909%= 570
oh W2 w A 28,590
1) AAH] 420-02 |26,040,000¢) X 8.709%= 2,268
2) Al7dn] 26,040

W - foluEF
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ST HA A e
At & E=A= ArEU o 2022d(A) | 202149 (B) (A-B)
7h) EALZ 420-03 12,170,000 x 1221 = 26,040
3) A En) 420-05 | 26,040,0009 X 1.08%= 282
6. AN 303,128 295,215 7,913
7}, s A 303,128
1) A AN 420-02 290,970,0009 X 4.1784%= 12,158
2) A1Adn] 290,970
hH 3= 420-03 196,990,000 x 34 = 290,970
108,143 138,090 £29,947
108,143 138,090 £29,947
ﬁé/ﬁﬂ%—i—%‘ 48,450 78,030 £29,580
A]/gg-l—g— 750 630 120
1. 5382394389 600 480 120
7}, ;gx_qz;% 210-06 |100,0009 x 6% = 600
2. FAL I FLAFTTFA L 150 150 0
7} 82l 3] 230-02 [15,0009 %1094 = 150
H AL 47,700 77,400 £29,700
1. 3AsEALIX Y 47,700 77,400 729,700
7h A S TAE TS 17,620
1) *98= 210-01 |61,0009 xX10%%x103]= 6,100
2) A Yy 9,600
7H & 210—-06 |40,0009 X 57 X 247k x 24 3] = 9,600
3) AN AN 210—-06 |10,000¢ x 5™ x 243]= 1,200
4) 7F21) 310-01 13,0009 x 80 x 33| = 720
15 el i S At Bl 30,080
1) *98= 210-01 | 100,000€ x10% x 23] = 2,000
2) ZFAr (YR 24,960
7H & 210—-06 |40,0009 X 6™ X 247k x 523] = 24,960
3) ZFAFAnH] AR 210—06 |10,000¢ X 6™ x523] = 3,120
59,693 60,060 2367
| 59,693 60,060 A367
1. 33 EAREAEF 45,000 30,000 15,000
7F EATY 430-01 |15,000€ X 3,0008 = 45,000

El
Ho
o
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At S S-A5 AEeg 20224 (A) | 202194 (B) | SH(A-B)
2. g Ex 2 A IGA < 5,385 7,600 22,215
A R 210-01 |100,0009 x 10%= 1,000
(B PSPAR-R =3 210-02 |359,0009 x5 = 1,795
t}. VODAIE = 210-02 |170,0009 x 29 = 340
2}, 52 KB40 210-09 |450,0009 x5 = 2,250
3. TZEABEHAS A 4,028 5,360 21,332

7k EA 2 1,228
D Sojgx 210-01 50,0009 x 4% x 23] = 400
2) 73R (L) 640
7hH 71E 210-06 |40,000€ X 11 X 2417 x 83| = 640
3) ZFARAH] 7 1) 210-06 10,0009 x 1% x83]= 80
4) 7+21H] 310-01 |3,0009 <187 x 28] = 108
uh =X AL 290
1) £98% 210-01 |100,000¢ x 2%= 200
2) Ak (R 80
71 718 210-06 40,0009 x 17 x 2A]7k= 80
3) ZFARAH] A1) 210-06 10,0009 x 1% x13]= 10
o}, = oAl 290
AR 210-01 |100,0009) x 2%= 200
2) A (L) 80
7h 718 210-06 40,0009 x 11 x 2A] 7= 80
3) ZFAAn] A ) 210-06 |10,0009 %1% x 18]= 10
et SAE ot 550
D) 99gx 210-01 50,0009 X 2%= 100
2) ZEAER (L) 400
7hH 71E 210—-06 40,0009l X 1% X 2A17kx 53] = 400
3) ZAAFAH] A ) 210-06 |10,000€9 x 18 x58]= 50
mh ol b s A TR 3 830
1) 98=% 210-01 |50,0009 x4F= 200
2) A (duh 560
b 7|8 210-06 40,0009 X 17 X 2|7k X 78] = 560
3) ZFARAH] A H) 210-06 10,0009 x 1% x73]= 70

=
Ho
ot
El
Ho
ot
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EEEAuSA A3 )
AFAH S S-A5 e 2022 (A) | 20219 (B) (A-B)

vh, =X - 91 3R 840
1) A5 210-06 |100,0009) % 37 x 23] = 600
2) o3 230-02 |15,0009 X 87 x 23] = 240

4. TZTABL NN Y 5,280 200 5,080
7h. 7R B A 5,080
1) ¢34 210-01 |100,0009) X 16%= 1,600
2) kUl A=A = 210-01 |3,000€ X 500%= 1,500
3) =3zl 210-01 |1,000,0009) x 13] = 1,000
4) Z3AE (L) 160
7} guk 210-06 |40,000¢ x 21 X 24 7k= 160
5) AR (518) 500
71 7] 210-06 |300,0009 x 14 = 300
) =3 210-06 |200,0009 x 14 = 200
6) 7ZFAFAH] 7 1) 210-06 |10,0009 %29 = 20
7) 93] 230-02 |15,00091 X 107 x 23] = 300
Lk ofHdu] 8- 200
1) 3% 210-03 |200,00091 % 17 = 200

o 2,184,427 1,298,424 886,003

836,187 903,659 AB7,472

11,943 12,177 A234

NSRS B 6,895 7,115 2220

CF2YFAgEHSFR 6,895 7,115 A220
GEEERE 7200
1) ¢98% 210-01 |50,0009 x 45= 200
2) Az A 2 210-01 |16,0009) X 225%-= 3,600
3) At A = 210-01 |500,0009 X 1= 500
4) 7+414) 310-01 [3,0009x100%= 300
5 9% 310-01 |500,0009 x 1€l = 500
6) &3 230-02 |8,000¢ X 20 = 160
L Fo ATt 1,635
1) AaA = 210-01 10,0009 x 483 x 23] = 960
2) d23 230-02 |15,0009 X 157 x 33]= 675
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A (k) : 89D
?}2 ﬂz At & E=A= 2= < 2022d(A) | 202194 ®B) | SH(A-B)
H] 3 T ] A 829 5,048 5,062 Al4
L vt Al S g R ek 4,256 4,270 Al4
7b A = 3,300
1) $94F 210-01 50,0004 X 6%= 300
2) W= e 210-01 |100,000€l x 307} = 3,000
A A A 956
1) $98F 210-01 |50,000€ x 4%= 200
2) AHFEN 210-15 |3,00091 x 547 = 162
3) 2n) 230-02 8,0004¢ %547 = 432
4) 7r2m) 23002 |3,000¢1 x 547 = 162
2. A HSAF 792 792 0
7} 9ol 210-01 |30,0009 X 6% x 23] = 360
U, 7h2H) 230-02 13,0009 X 367 x 43 = 432
AR 522 10,574 10,438 136
FINEE) 10,574 10,438 136
1. A7} 480 540 260
7}, A E) 250-04 |5,0009 x 47 x 1238] = 240
U, A4 Q) AR kg0 e 210-06 |40,000€l 67 = 240
2. AAALE A} 600 500 100
7}, Az A 2 210-01 10,0004 X 60%-= 600
3. FA 2P H 2 4 35} 9.494 9,398 96
7F AR d A 5,644
1) A3 &EH] 210—15 53,0009 < 34%g x 28] = 3,604
2) AFYAE 210-07 |700,000€1 X 1} x 23] = 1,400
3) 423 230-02 |15,000€1 X 361 = 540
. A A eI A sk Al g A 3,450
1) AP FEn 210-15 [40,000€1 x50 = 2,000
2) el w 210-07 |700,0009l % 1tj= 700
3) A (Lnb) 750
78 718 210-06 |160,00091 % 178 x 33]= 480
W) Z3 210-06 |90,00091 x 17 x 33 = 270
o S s 500
W = WEAN — wSPH AR - AP A - AR 33




BEEdus Ay (o] - 4
o 1=]
?};3 fg Abd ] < A5 Ed e 20223 (A) | 20219 ®B) | SH(A-B)
1) A=A =k 210—01 |10,000€ X 50%-= 500
71 B2 71D 2 A 77 3,093 3,818 AT25
AR 1,828 1,828 0
1. %R F/ 2B/ L AL 1,828 1,828 0
7k A 9937} 1,828
D) AAG 7 A G A A w7t 504
VO = B 210-01 |6,300¢ X 80%-= 504
2) A 7He] 32 1,324
7hH 9 8% 210-01 [17,0009 X 6% x 23] = 204
) A5k 210—06 |100,0009 x 47 x 28] = 800
oh) A An) 7 ) 210-06 20,0009 x4 x 28] = 160
) AlH) 230-02 {8,000 x 107 x 28] = 160
33@71141%%11% 1,265 1,990 AT25
WS Y A FA3) 1,265 1,990 AT25
7P THAA G A ST 1,265
1) 982 210—01 |89,0009 X 5% x 28] = 890
2) 2n] 230-02 15,0009 x 257 X 13]= 375
e B B R R A1 B DR I BN 7,425 11,089 3,664
TEFAA LA AE L 3,225 6,929 A3,704
LA ALLY 3,225 6,929 A3,704
7} AR S A% 2,000
1) S98=% 210-01 |50,0009 X 4% x 58] = 1,000
2) PC3g) 210-09 50,0009 X 2% x103] = 1,000
b, AR A 5 1,225
1) H/WH-A] x4 210-09 | 15,306,0009 X 8%= 1,225
ISPAIZ2EAT 4,200 4,160 40
1. 7| EEHZHAEL 4,000 4,000 0
7h 58 4,000
1) &35S 210—09 |3,000,0009 x 1tf= 3,000
2) VEESYIEE 210—01 [100,000€ X 10%= 1,000
2. ARZNSA 200 160 40
AU R 200
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7188 A& 2 A
7189 AR EsduSAYH (k9] - A 9)
2 o 1=]
woipy B3| T3 | 0T Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
1) A=t 210-06 |100,0009 % 27 = 200
oA AAL A g 1,500 1,520 A20
oA A7 1,500 1,520 220
1. 53 AN HYF2 1,500 1,520 A20
7t ¢ eE 210-01 50,0009 X 65= 300
. Az A 2 210-01 |12,0009 x 80%= 960
t}. & 9] 3 230-02 |15,0009 x 167 = 240
A 72 76,035 46,493 29,542
ZHANDEZ AT 76,035 46,493 29,542
. FEZRAARE 4,320 4,160 160
7t 4= 210-01 50,0009 x 4%= 200
U, A fm e n 210-01 |300,0009 x33]= 900
U}, en|=o| g5 210-02 |100,000¢ x 23] = 200
2}, A =) 250-04 60,0009 x 27 x 129 = 1,440
vk A 2] 3] 1,040
1) A=t 210-06 |100,000€l X 47 x 23] = 800
2) 893 230-02 |15,0009 x 87 x 28] = 240
vl A =13 o 5] 230-02 |15,0009 X 367 = 540
2. ¥ A A AT 11,000 14,000 23,000
7}, # me) 210-09 |5,500,0009 X 27] 1= 11,000
3. EZagrza 44,455 0 44,455
7h AR 7] WhE e 44,455
1) 258w 620-03 |34,965,0009= 34,965
2) = 620—03 19,490,000¢ = 9,490
4. AEATA A ZA 3] 16,260 13,333 2,927
7}, AT A A 3] 1) 210-02 |16,260,0009= 16,260
A ) X] A] &) 586,856 575,235 11,621
A ) %) A 3 ) 586,856 575,235 11,621
1. 2 Ax 539,186 531,155 8,031
7} B Aok ws 1,000
1) $dgx 210-01 |38,0009) X 7% x 28] = 032
2) A (duh) 300

3
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EEsF S d9d )
Abd ] < A5 AEUS 2022€d(A) | 2021€9(B) (A-B)
7h 7] & 210—06 |100,000¢ X 19 x 23] = 200
W) z7 210-06 |50,0009 x 13 x 23] = 100
3) g 210—06 [14,0009 X 37 X 2A1 7k x 23] = 168
U, A Adxts 210—-07 |435,062,000€9= 435,062
o}, E8hi Ao 620—-03 |103,124,0009= 103,124
2. TN EEA Y 47,670 44,080 3,590
7}, B A A 620—-03 |47,670,0009= 47,670
14,408 13,158 1,250
ZFulze] 3 8,048 7,048 1,000
1. x99 ds#g 3,180 3,180 0
7h St el ddT 3,180
1) ¢4 210-01 |177,0009 X 8% = 1,416
2) A2 A 2+ 210-01 |8,0009 X 60%-= 480
3) Ak (dah) 320
7H 71E 210-06 [160,0009 x 17 x 23] = 320
4) 98 210—06 |14,000¢ x 31 X 2A] 7k= 84
5) 2] 310-01 |8,0009 X 55 x 23] = 880
2. SRy Ao B8R Y 4,868 3,868 1,000
A AT Rl B 4,868
1) $98% 210-01 |100,0009 X 34%= 3,400
2) A (59E) 700
7h 718 210-06 |200,0009 x 17 x 23] = 400
W) %3 210—-06 |150,0004¢ X 1 x 23] = 300
3) dixs 210—06 |14,0009 X 3v} X 217k x 28] = 168
4) 72 310-01 |3,0009 x40 x 53] = 600
AL = R 6,360 6,110 250
1. 2 YAIG A A F g 4,050 3,650 400
7h AEAME AL 4,050
1) ¢3¢ 210—-01 |50,0009 X 10% x 23] = 1,000
2) 2FE A= 21001 |20,00091 X 154 % 23]= 600
3 FA+S 210-06 |100,0009 X 10 x 23] = 2,000
4) &3 230-02 |15,0009 X 157 x 23] = 450
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B8 AEZ =Y A
718 AEE RS A9 (she] : A Q)
o 1=]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
2. A5 ALH RS IAHR Y 2,310 2,460 2150
PARRTAS i o R < R 2,310
1) $94e= 210-01 |100,0009 X 3% x 38]= 900
2) A7 A= 210-01 |20,0009 X 154 % 33]= 900
3) & 9] 3 230-02 |15,0009 x 179 x 28] = 510
Al AL #e 124,353 229,731 A105,378
PADSPARS KRS 124,353 229,731 A105,378
1. N AAFY 2R Y 124,353 229,731 105,378
7h. S A A A e 121,453
1) 254 210-09 |90,274,0009 = 90,274
2) MA e g 210-13 |30,412,0009 = 30,412
3) A] A 420-05 |767,0009= 767
L AN 22 9 2,900
1) AXEYoALE R 210-01 |580,000¢ x57)= 2,900
7 Heg 1,348,240 394,765 953,475
R 398,993 334,994 63,999
7] 7] B2 398,993 334,994 63,999
1. 7| 2 QT30 30,120 28,990 1,130
7h. 7137182 7] 30,120
1) 7) B2 A F A E2=3) An) 250-02 |400,00091 x 129 = 4,800
2) 71 B8 FE=n) 230-01 |21,000,0009 = 21,000
3) ALY 2] 230—01 |80,0009 X547 = 4,320
2. BA 7| B9 73n) 117,478 121,708 24,230
7} w8 9 3} 46,638
1) YRk 6,608
7} Fq 210-01 |1,200,0009= 1,200
) el 210-01 |416,0009 x 139 = 5,408
2) EujAln] 210-05 |8,0009 X 18 x 603] = 8,640
3) FA]LodAn 210-15 |350,0009 x 129 = 4,200
4) 2ol 24,310
7h T 220-01 |20,0009 % 13 x 313] = 8,060
W) =4 220-01 |40,0009 x 13 x 268] = 13,520

e - YN - 71 Bed - 7]

HEgnR - 7879
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BESPLEA 0% (9] 2 W)
Al Ape el 2= Al 2022 (A) | 20214 =7 (A
A = = A5 Qe d d(B) | $7(A-B)

hH £9 220-01 |70,00091 % 13 x 33| = 2,730
5) 2 A G ES4=8 An] 250—02 |100,0009x128= 1,200
6) 54 9F7n 1,680

7h BAwS EH) G aFd 250—-03 |60,0009 %194 x12¢= 720
W St A (S E R E) Edad | 250-03 80,0009 %18 x 129 = 960

L B A 3t 70,840
1) 4k 11,600

7H B 210-01 |1,200,0009= 1,200

) 7fels 210-01 |416,000¢ x25% = 10,400
2) EZuf2ln) 210-05 (18,0009 X249 x 159 = 2,880
3) Fa L3 AN 210-15 |350,0009 x 129 = 4,200
4) Z-odn) 41,000

7h A 220-01 |20,000€ X257 x213]= 10,500

) =4 220-01 40,0009 x 25 X 133]= 13,000

) =9 220-01 |70,0009 X257 X 108]= 17,500
5) A AW T3 A n| 25002 |100,0009 x 129 = 1,200
6) 5445730 9,960

7H Aty 250—03 80,0009 x 24 x 129 = 1,920

W) eatgd a4 250-03 |150,0009 x 3% x 12€ = 5,400

oh st X ggE 250-03 100,0009 x 17 x 1294 = 1,200

o) A ETTd 250-03 60,0009 x 2 x 129 = 1,440

3. 71 &AL I AN 210,010 144,243 65,767
7}, A2 A B 1,320
1) 7| ESA R 210-09 |110,0009 x129= 1,320
U FAL e 82,893
1) HAFFA K 210-09 |854,5009x12¥= 10,254
2) FAFGA RS 210-09 [202,0009x12¥= 2,424
3) A7|AdAg AT E 210—09 (240,000 x12¥9= 2,880
4) 2vpA| A A ulobd A 7 210-09 |208,0009 x124= 2,496
5) AuFAu) R4 210-09 |50,00090 X5F x43]= 1,000
6) FA9WLE 210-01 |25,0009 X 30% x 28] = 1,500
7) Hped A= 210-13 |299,900¢1 X 103]= 2,999

)

— 7]1229H - 718729

¢

38




7188 A2 S
713 AR RS A SA Y (k9] - d4d
2] =0 [$) H
gopzg 22| B3| 2% NERE = BESE 20224 (A) | 20219(B) | 24 (A-B)
DEHEREES=— 210-02 50,0009 x 43]= 200
9) A7)z 210-07 |205,0009 x12¥= 2,460
10) ARAHE =1) 53,600
7 3o g ekxt 430-01 |1,300,000¢ x 2] = 2,600
W) Ay 430-01 |300,0009 x5t = 1,500
oh) dARE AL 430-01 |500,0009 X 19t} = 9,500
) o] F 2 A7}t 430—-01 |1,000,000¢ x 307]= 30,000
vl 57} 7 430-01 [500,0004 X 207}= 10,000
11) 3FA L EA 7 A A 714 210-13 |1,540,0009 x 23] = 3,080
|= e i et 1,800
1) FolAu g 210-13 |150,0009 x 12¢ = 1,800
gt FF T YAA 65,206
1) A7QF 210-02 |3,900,0009 x 12¢= 46,800
2) Asto = 210-02 |650,0009 x 12€= 7,800
3) Al E o 210-02 240,000 x 129 = 2,880
4) AARZ=RI T 210-02 |23,3009 %207 = 466
5 FAUEAIER 210-02 30,0009 x 129 = 360
6) AL B 210-02 |180,0009 x 12€= 2,160
7) ClE| Y EAIH] 210-02 395,000 x 129 = 4,740
uf, HEAFE- 14,651
1) ¥ %4 (20,000km™] 5H) 210-10 |6,773,0009 x 1t = 6,773
2) 853 (10,000kmm]RH) 210-10 |7,878,0009 x 1t = 7,878
uh, A Re-o 7 m 22,190
1) weHA 210-01 |208,0009 x 52 = 1,040
2) 7R E L= 210-01 |20,0009 x36%F x 12¢ = 8,640
3) gF-Ax 210-01 |15,0009 X 70%-= 1,050
4) F-FokE 210-01 |50,0009 X 10% x 23] = 1,000
5) ¥]n) 210-03 |200,0009 x 67 = 1,200
6) & 3bukA) = 210-01 |250,0009 x 2% x 23] = 1,000
7) N AT AR E) 210-01 82,6009 x10% 108 = 8,260
Ab. 37 R A B 7,200
1) AFHSA RS 210-13 |170,0009 x 129 = 2,040
WG - WU - 7RG - 7B - 7S
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718 AEdEHIA
B P E R A SRR (he] - Al
I . s Aol Y Rk A& 20229 (A) | 20214 (B) | Z7(A-B)
A | AL | A
2) A7) A &g 210-07 |215,0009 x 2t x12¥= 5,160
oF. A8 7) 4 14,150
1) AFH 430-01 |1,200,0009 x 9t = 10,800
2) ZHE (A4,3) 430-01 |450,0009 x 3t = 1,350
3) TAE (A4, 48) 430-01 |1,000,0009 x 2t = 2,000
A} A=At 600
1) 298 210—01 |50,0009 X 6F X 23] = 600
4. EA BT BGFFAN] 9,016 9016 0
7h. Ao 2,376
D 7183 210-01 |800,00091= 800
2) Mol 210-01 |394,0009 x4 = 1,576
L Eu A 210-05 8,000 x 4™ x508]= 1,600
o}, F A 7 210-15 |100,0009x12¢¥= 1,200
2}, uoln| 2,640
1) ZH] 220-01 |20,000¢ x 47 x123]= 960
2) T4 220-01 |40,0009 x4 x 78] = 1,120
3) £9] 220-01 |70,0009 x4 x 23] = 560
w}, A 2 F ] 523 A ) 250—02 100,000 x12¢¥= 1,200
5. EA 7 ek A | 32,369 31,037 1,332
7 BT 210-01 |15,0009 % 20% x29= 600
U AFRe = 210-01 50,0009 x20&= 1,000
oh A A e &= 210-01 |50,0009¥ X 20F x 28] = 2,000
2}, EAMARCE #HH) 210-13 |1,120€¥ x3,0004= 3,360
vk FE W AA 16,979
1) A7 Qe+ 210-02 950,000 x12¢¥= 11,400
2) A3 e+ 210-02 |80,0009 x 12¢ = 960
3) ERAH AL Q F 210-02 |159x50071 x129= 90
4) +He= 210-02 |50,0009 x 13]= 50
5) Ao+ 210-02 |90,0009 x 129 = 1,080
6) AARZRI T 210-02 |65,0009 x13]= 65
7) e B & 210-02 |80,0009 x 18] = 80
8) T 7AiM B g 210-02 |50,0009 % 18] = 50
W - WA T — 72 gn] - 717
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718 AE45HIA
71387 AYREE LS9 (¢ - )
Z [e) 1=}
gopzg 22| B3| 2% Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
9) A7 AT R 210-02 |250,000¢) x 13]= 250
10) 7371471 AA S5 210-02 [150,0009 x 13]= 150
11) ¥ A4n 89 210-13 |105,3009 x 12¢¥= 1,264
12) 3ZAI A EA 7 rA A7 210-02 |770,0009 x 23] = 1,540
vh, A 47] 322 210—-09 |24,5009 x4t x5¢= 490
A} AAALET) 7] B A B 210-09 |150,0009 x12¥= 1,800
o}, HALGA K 210—-09 |200,0009 % 12¢= 2,400
2} AR 210-09 |200,0009 x12¥= 2,400
2}, 2573 H] 210-01 |200,000¢] x 41§ = 800
b = A 3 210—02 |180,000€ x 3% = 540
ISP 7| BAA 949,247 59,771 889,476
7)1 BA 282 #z) 949,247 59,771 889,476
1. ZSA LA A 949,247 59,771 889,476
7}, BALS-A #E) 210-09 |300,000¢ x 194t = 5,700
L A 7R A 442,725
1) AAmn] 420-02 |146,226,0009 X 4.718%= 6,899
2) AlAH] 435,826
7V FAFEG 420-03 |362,000¢ X 800m'= 289,600
W) YR 420-03 |146,226,0009 x 14 = 146,226
o s AHA A 500,822
1) AAm) 420-02 |484,603,0009 X 3.3468%= 16,219
2) AlAn] 484,603
7h) AR 420-03 |10,550,0009 x 34 = 31,650
BRI = e 420-03 |17,068,0009 x 104 = 170,680
th) %3 7 A 420-03 |22,380,0009 x 104 = 223,800
b YA 420-03 |58,473,0009 x 14 = 58,473
71 €} 1,406,349 1,370,857 35,492
Q1A 1,406,349 1,370,857 35,492
QAN 1,406,349 1,370,857 35,492
Z 221 7 H) 1,406,349 1,370,857 35,492
‘_1_]7_-_91—30'——‘:,'—5} 2e17H) 1,406,349 1,370,857 35,492
| 1. 252 YA AH|He) 1,406,349 1,370,857 35,492

)
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718 AEE RS A9 GCEEEE
=] = ) =]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)

7}, A AR ] 949,190
1) 718+ 110-04 |1,840,0009 x 227 x 129 = 485,760
2) &5 110-04 |6,576,8189 <22 = 144,690
3) F2H) 110-04 |140,0009 x 22 x 124= 36,960
4) V&3 110-04 |1,066,6669 <184 = 19,200
5) WAEZIIE A 110-04 |600,000€ x 22% x 23] = 26,400
6) A7 110-04 |450,0009 x 227 x 23] = 19,800
7) AxSoF 110-04 (2,139,681 ¢ %221 = 47,073
]) ul=3]H 2] n) 240-02 |550,0009 X227 = 12,100
9) § &Y+ 320-12 3,197,409¢ x 22 = 70,343
10) 4RI 7| R+ 320-12 |774,879,5719x11.21%= 86,864
U}, 3peha ALl 7 m) 33,620
D 715 110-04 |1,840,00091 x 11§ x 129 = 22,080
2) 21 110-04 [140,0009 x 19 x12¢¥= 1,680
3) 7S5 110-04 40,0009 14 x12¢= 480
4) HAZI}H A 110-04 600,000 X 19 x 23] = 1,200
5) A7+ 110-04 450,000 x 19 x 23] = 900
6) I HIF 110-04 |38,0009 %18 X309 = 1,140
7) AxG 110—04 |2,146,00094 % 1= 2,146
8) uk=3] 1 21 240-02 |550,0009 x 1= 550
9) At 7| AHFF 320-12 30,722,569€ x11.21%= 3,444
ok A g dn] (LA 4F) 20,874
D 7= 110-04 [1,150,0009 x 11 x 129 = 13,800
2) =211 110-04 [140,00091x 194 x12¢¥= 1,680
3) HAEZIIE A 110-04 |600,000¢ x 23] = 1,200
4) A5G 110-04 [49,6209 %18 x169= 794
5) 923 B | 240-02 |550,00091 X 19 = 550
6) Bl AYF 320-12 1,489,0009 x 1% = 1,489
7) 4R 7B GF 320—12 12,140,950 x11.21%= 1,361
g}, Eoh Aqkd 4 EAbl A 242,336
D) 7 Rguztss 201,761
7H x4 620-01 |15,715,00090 X198 = 15,715
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Z] 20 [ =]
Hof BRIt AOP?j ?};3 fg Ay E— ey 2022 (A) | 20214 (B)

) 258w 620-01 [16,913,2729 %114 = 186,046
2) 9 AP FRAGYRFH 7| Rk 40,575
7H x4 620-01 4,688,0009 x 1% = 4,688
W) 2538w 620—-01 3,262,4549 %119 = 35,887
vk Wee Al B ALS] 2] AFQIZ H] 43,375
D 7= 110-04 |2,040,00091 x 11 x 129 = 24,480
2) &5 110-04 [367,5009 x 19 x 129 = 4,410
3) &1 110-04 [140,0009x 19 x12¢¥= 1,680
4) AZIIR A 110-04 600,000 X1 x 23] = 1,200
5) A7 F 110-04 450,000 X 1 x 23] = 900
6) 2HLHST 110-04 [17,7209 X 17 X 80| Zk= 1,418
7) A 110-04 |94,8409 x 1% x 19 = 1,802
8) WE& H A n) 240-02 |550,0009 x 1% = 550
9) Bl rAYZ 320-12 12,906,000 x 114 = 2,906
10) A 7| R+ 320-12 [35,941,1239x11.21%= 4,029
B} Wee Al B} 2 A ehabel 7] 78,649
D 71 110-04 |2,040,00091 x 2 x 129 = 48,960
2) &5 110-04 [122,5009 %29 x 129 = 2,940
3) F2H) 110—04 [140,0009 x 29 x 129 = 3,360
4) 7V&53 110-04 60,0009 18 x12¢¥= 720
5) HAZIR A 110-04 |600,0009 x 29 x 23] = 2,400
6) A7+ 110-04 |450,0009 %29 x 23] = 1,800
7) 2GRS 110-04 [16,2109 X 27 X 80| Zk= 2,594
8) Ax 110-04 |87,4609 X 2™ x 209 = 3,499
9) StEFEA] 240-02 |550,00091 x 24 = 1,100
10) g§rA8+ 320-12 1,920,5009 x 2% = 3,841
11) 412713 G= 320—12 [66,324,7109x11.21%= 7,435
A, Zdm1 1] 16,362
D 71¥+ 110-04 [828,0009 x 19 x12¢¥= 9,936
2) F24H) 110-04 [140,0009 x 19 x 129 = 1,680
3) HAEIR AT 110-04 600,000 X 19 x 23] = 1,200
4) Az 110-04 37,0709 X149 x16Y= 594
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] A [S =]
goivE L3 ?}g jg JARSIE TS E_jE A& 20229 (A) | 20214 (B)

5) SEH A 240-02 (550,000 X 17 = 550

6) HAAHT 320-12 |1,502,0009 x 19 = 1,502

7) AR AT 320-12 |8,020,0009 x11.21%= 900

o AN (EF=A ) 21,943

D 7125 110-04 |1,150,00091 % 1% x 129 = 13,800

2) F2H] 110-04 |140,000€x 1% x12¢¥= 1,680

3) WEFIIRAT 110-04 | 600,0009 x 1 x 23] = 1,200

4) Ax}SoF 110-04 (49,6159 x 18 x41<= 2,035

5) BEFHA1] 240-02 |550,00091 x 14 = 550

6) HAAZZ 320-05 |1,501,0009 x 1% = 1,501

7) AR 7| BRI 320-05 [10,499,5509x11.21%= 1,177

7)eF — elzin] —

A8 - 2EADNAY - BEZFAAAAY]
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